= o
A & 0l & AF 2 E A A
20138 S0& &= AMBSEIH A
SN YR
A MRT . ALTe
Eel: A AG (AZAIESE3H) (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ry 27,724,481 26,046,234 1,678,247
= 45,732
Al 27,678,749
ot - A2t 17,683,871 16,046,225 1,637,646
= 45,732
Al 17,638,139
AT AL (AT AIESESH) 17,683,871 16,046,225 1,637,646
= 45,732
Al 17,638,139
e 29 XA 123,052 7,000 116,052
201 Let24d] 116,052 0 116,052
01 At 22/l 116,052 0 116,052
O7. 58 SXNMZ Al ZH
1,018,000& «114¢! 116,052
203 ¥R =&l 7,000 7,000 0
03 A=A H I =AY 7,000 7,000 0
O& =T AL 7,000,000& 7,000
ANE2Y 958,208 1,116,150 A 157,942
101 1A Hl 11,208 0 11,208
04 JIZHHZ2XNHEE S 11,208 0 11,208
Of B4+%, SHALT HMEXY Ay
46,7003 +62! 1004 2 *4 3] 11,208
206 M= Hl 677,000 503,000 174,000
01 M= 4l 677,000 503,000 174,000
OB =4l 17,000
DR YU RV A2E TY(HYSR
FelA, W) 100,000 203 2,000
DE.E=E 2, AFKE I 2 &I
PADN Il 1,500,000& x103 15,000
OF=H==& 8 55,000,000& x12& 660,000
401 AIEHI L 2 CHEI 270,000 351,150 A 81,150
01 A& tl 270,000 351,150 A 81,150
O4+% DEHHD 224 2E DH22H
4,000, 000& »5CH 20,000
OR2YdH2sgEx+Z 2= AL AE(0.5km)
100,000, 000 100,000
Of=H F2F MxE NEd=2 FUHNMRC
150,000, 000& *1 150,000
Fa=2e| 8,133,865 8,021,305 112,560
206 M= Hl 7,925,865 7,776,865 149,000
01 MHZ 4l 7,925,865 7,776,865 149,000
2Bt = I 15,000




A YR
B MaT - A
Eel: A AG (AZAIESE3H) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
D2 HHMEH 2 3,000,000& «35 9,000
DAY ZENF E SN U EAE
P e 600,000& x10& 6,000
Ol 120,000
> & 4= Z 4| (PAHCS2I 38)
30,000,000& 4= 120,000
OBAMLE HaH|
49,750& *360& 3652 *110% 7,190,865
Od=&=+% &gz 50,000, 000& =123 600,000
308 XX EHH SOl A 120,000 0 120,000
05 HXSHHM2URE = 120,000 0 120,000
OZAY A+RAPEIA B2YE 23
120,000, 000 120,000
401 AIEHI L 2 CHYI 88,000 201,440 A 113,440
01 A& HI 88,000 200,000 A 112,000
OE=F+% PHEHD| EX(EAEX F} 2L
) 5,500,000 x24! 11,000
OAZHLT LESLINSI| 43
33,000,000& » 14! 33,000
OM+RALSTY oY EXE &3
3,000,000& *6H A 18,000
O8.8 M4E AHE B B2
26,000,000& » 14! 26,000
= ANE & =21 3,450,077 2,707,400 742,677
101 @124 dl 6,138 0 6,138
04 JIZHHZ2XREE S 6,138 0 6,138
OS+2XE JI2tA 212t 6.138
>olEas 39,5003 101 86 3,397
PEEYE 39,500 12118 711
> ARG 39,5003 101 x4 158
PR 870,000 » 14! 870
>aaldl ¥ WSl 100,000& =121 x4 & 400
el = == 5,536,000& *4.5% 250
PALEE =S 5,536,000& *2.9% 161
PEIRAZE 161,000& *6.55% 11
PIEEBES 5,536,000& *1.95% 108
DAMTHEE Z 5,536,000& =1.285% 72
206 M= Hl 444,000 446,000 A 2,000
01 = Hl 444,000 446,000 A2,000
O 22 28 =48 MEHI (=2 X)
400,000& *200& 80,000
ONYE A2E 2 248 YUWE 2A(r2
gt xl) 500,000& 30 15,000




2N
X ZH -
L= B

el

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
OAEI skt X G 7
10,000& =1,000H 10,000
OAMAIEE & HMEH Y (F=EX)
15,000, 000& 14! 15,000
ORI HE d™E 2 18,000, 000& 122 216,000
OSH8HXY F2F M= [601A]
9,000,000& x12& 108,000
207 A RO H| 124,999 70,000 54,999
01 284 124,999 70,000 54,999
O&=% GISDB RANE> EEH
10,000, 000& *10km 100,000
OXgax=E MR 22 2T My
g9 8,333,000 *30 & 24,999
301 et a3z 5,000 5,000 0
12 JIEtE 43 5,000 5,000 0
OR¥Eg= &1 Z&= 5,000,000& =14 5,000
05 e =2s 7,000 6,000 1,000
01 Hia=s 7,000 6,000 1,000
OM+E =4 T&) Q20 BA43
5,000,000& =14 5,000
O&==STAHEI A BIJ HIl 243
200,000& 10 2,000
306 ¢ 2 157,000 0 157,000
01 &3 157,000 0 157,000
OM+2B57d ZUXANY BHZ(LLR)
157,000, 000& 157,000
401 AIEHIZL 28I , 705,940 2,180,400 525,540
01 A& Bl ,700,000 2,175,000 525,000
OAEI 7 € == HEI WA
60,000& *2,000& 120,000
OHH™ HSI 72 BH 400, 000& 5001 2 20,000
Ot ¢ == AHEJg o4
2,000,000& *100H £ 200,000
O& Wg ZT&E s2SA 800, 000& * 10004 2~ 80,000
OBSAE(Ha2H HE) B3 A
2,000,000 *109H A& 20,000
OL3d BxZA 2,000,000& *40H 2 80,000
Oozz g RAEB+=3A
2,000,000& *100H £ 200,000
O&ld ZAtHI 1,000,000 =800 24 800,000
OXgaxZ (3 .tha2) 23 AL [4km]
800,000,000 » 14! 800,000
OAIJIX 21 (S F LK )AL [1.5km]
300,000,000& 14 300,000




SN YR
A MRT . ALTe
SRl MATA(MATASSHIN) (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OJIs=clet 22X 0r2 HHE &X
30,000,000& » 14! 30,000
OHFAE 23 SRASAH(H==H 0EH, 2
&) 10,000, 000& *5H A 50,000
03 A& S THHI 5,940 5,400 540
ONga=Z (S . Ha2) ALY
600,000,000& *0.63% 3,780
OAIJEAl 212 A (=S4 FYX)ALS
300,000,000& *0.72% 2,160
drE Rz 313,500 321,360 AT,860
301 et d = 42,200 0 42,200
10 #AtAHI 2 A3 25,200 0 25,200
ON+E HEXNA S HEX A8
600,000& #4221 x 13| 25,200
12JEEd= 17,000 0 17,000
ON+T AB2 MY B4 Ta3
3,000,000& *43| 12,000
OL=2 454582 =8 S HY 30 Zy2
5,000,000& 5,000
307 glz2tol & 51,300 99,360 A 48,060
05 RIZHRI & 3 51,300 99,360 A 48,060
OZEZG(2US T8) 42THBI| 2212
& 2 A I 450% 9,500 =128 51,300
401 Al HIZ 201 I 200,000 185,000 15,000
01 A& HI 200,000 185,000 15,000
O&==ECAHEI SANSTHAAY 201 € &
Xl 200,000& =1,000H 200,000
802 BtEt=JIEF 20,000 20,000 0
03 Ugd=3s 20,000 20,000 0
ODUE H4E22 By va
20,000,000& 20,000
d@ B539 FUXF ALY 152,439 163,300 A 10,861
= 45,732
Al 106,707
401 AIEHI L 201 152,439 163,300 210,861
= 45,732
Al 106,707
01 A& Hl 152,439 163,300 A 10,861
OM+@ 2379 77 XA
152,439,000 152,439
= 45,732
Al 106,707
FH.BFANE HEAY 1,274,000 224,000 1,050,000
401 AIEHI L 20 1,274,000 224,000 1,050,000




2N YD
B MaT - A
Gel: AEAML (AT ALSESA) (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 A& bl 1,274,000 224,000 1,050,000
OFH . E==F =X, 23T AME=2 RAE
&= 10,000, 0002 * 1094 A 100,000
ORZEH H4T SN Y2IA
66,000,000 » 14! 66,000
OREHLT HEHA BATA
500,000,000 » 14! 500,000
OE=H=H S=tiHAE &X
30,000,000& » 14! 30,000
OF=F=Z H1AE (X 2 WS A
20,000,000 » 14! 20,000
O3dF&2F MIAHZE 6HUX B3 AH2KZ)
50,000, 000& *2XI 100,000
OF . 82 ¢ =X &#& Iyl
90,000,000 » 14! 90,000
OREH B4T JIHA 25 DA
20,000,000& » 14! 20,000
OREHLE H2BIN XS BLLADA
20,000,000 » 14! 20,000
OSUNH2BHEF=T 2A E=
20,000,000 » 14! 20,000
ORFFHAT ZANE XA
25,000,000 » 14! 25,000
ORAEHLE %4 N 22BN
22,000,000& » 14! 22,000
Odd HeHE =& Al I WS A
7,500,000 *20H 2~ 15,000
OF B, #3012 E DI & dII&Hl =X
10,000, 0002 *109H A 100,000
OXNga=E FH =S H SAY
30,000,000& » 14! 30,000
OXNga=E SE;ZHMAAE HEAY
40,000,000& =14 40,000
OREZ4E WIHE SHX AZHHI HE
A 3,000,000& *87| 24,000
Ot MFEID NSHOH EX3A
20,000,000& =14 20,000
O2R2 F2FE ) NMEE RAES
10,000,000 *2H A 20,000
Of=F=% =& J3s =5 ZIIANE &X
6,000,000 »24! 12,000
A=A AT =2 AE XA 1,905,670 955,670 950,000
401 Al Bl 28I 1,905,670 955,670 950,000
01 A& HI 1,900,000 900,000 1,000,000
29X XIS At 1,900,000,000& 14 1,900,000
03 A& =2 THHI 5,670 5,670 0
U ==X & XIS At 900,000,000& *0.63% 5,670




SN HRD
A MRT . ALTe
Gel: AEAML (AT ALSESA) (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
NeaE 2ZAIE HSAS 1,373,060 705,040 668,020
401 Al&HI & 28I 1,373,060 705,040 668,020
01 A& HI 1,370,000 700,000 670,000
L2 nHISA 1,000, 000& *400H 2 400,000
CE a2 LDASAHEHES =142 S)
870,000,000 » 14! 870,000
OF9Y W& 2= 2 A4 HESM
100,000,000 * 14 100,000
03 Al =2 THHI 3,060 5,040 21,980
C= =2 WH3A 300,000,000 *0.72% 2,160
O=% M #+= & AL HESA
100,000, 000& *0.90% 900
HEEs(gR) 2,000,785 2,098,420 A 97,635
BEXNE (A>T AL SESIAH) 2,000,785 2,098,420 297,635
X2y & &t 2,000,785 2,098,420 A 97,635
311 Xt S0l A& & 270,785 368,420 A97,635
02 Al -2 - FXNEHLISXUHL SOl AHAE 117,000 175,500 A 58,500
OX<EoHEIIz OlAt 117,000, 000& 117,000
04 SLZSXLS0IAH&EE 153,785 0 153,785
O33X3&ed3 0l Xk 153,785,000 153,785
601 XS A S && 1,730,000 1,730,000 0
02 Al -2 - FXNENLI UL LS 1,300,000 1,300,000 0
OXGHeEIIzs 3 & 1,300,000, 000& 1,300,000
04 SLZFIXLS S &E 430,000 0 430,000
O=3ia=a2ellla &3 &8 430,000,000 430,000
HY2AHH (L2) 7,695,903 7,528,509 167,394
AR (AT ASELHSIA) 6,212,373 6,047,481 164,892
ol A A 6,212,373 6,047,481 164,892
101 @144 Hl 5,168,107 5,031,185 136,922
01 2= 2,985,188 2,914,160 71,028
1. Jle=s 2,192,292
>E2 (Y29, J1s29) 1,974,557,000& 1,974,557
> X <K&l 1,974,557 ,000& *3% 59,237
PEISH 1,901,965,000& /12%50%*23] 158,498
O 2 =¢ 463,633
DEIZF=EIHE 69,120,000 69,120
DOHESY 42,318,000 42,318
DAHSHIE XY 21,471,000 21,471
DUHRESL+Y  1,901,965,000% <4 .8%*1/2 45,648
DEAE 50,000& *5721 x12& 34,200




SN YR
M HE2IZH(YR)
el Y (A AIESE3H) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
DEASYGINS[EHAA]
20,0003 =401 x12& 960
DRAEIRSL(ZS) 50,000& «101+12& 600
DREIRSY(2F) 40,000 2321 «12& 11,040
DR 238,276,000 238,276
O 3. §dHzAaldl 90,480
D> & Mz AlH| 130,000 5821« 12& 90,480
O 4. FE S| 190,197
> HE S| 1,901,965,000% /12%60%*23] 190,197
O 5. It 4| 48,586
D> DS Al
2,033,794,000& /12%86%+*1/30x10 48,586
02 JIEt A 2+ 1,130,460 1,148,477 A 18,017
Oo1. Jl23 784,415
>&2(154 0l4 304 012, 205)
2,446,400 3 x2401 x 12 704,564
D> X <&l 704,564 ,000& *3% 21,137
PEZSE 704,564,000% /12x50%*23] 58,714
O2. =¢ 220,811
DEZ=EIAE 27,840,000& 27,840
DItE+ 23,040,000 23,040
DAESHEXESE 8,886,000& 8,886
DEAE 20,000 2401 x12& 5,760
Dot~ 40,0003 «121«12& 480
DEEH 30,000& 20112 720
DEUZLE 154,085, 000& 154,085
0O3. Mg alH| 37,440
> EAZ A 130,000& #2421 12& 37,440
O4. BEFItH| 70,457
> EFOH 704,564,000 / 12%60%+*23] 70,457
O5. HItE 4| 17,337
D> o0t AHH|
725,701,000 /12%86%+*1/30% 10 17,337
03 RIAHAZ 2B+ 1,052,459 957,604 94,855
OYESAE (558 JI&E) 500,785
>llEs 1,191,510& #2201 x12& 314,559
>aN3 1,191,510& 2221 x4 104,853
DA 222 8,988& x2201 x20A| 2t+12& 47,457
> AX =G 34,1603 2221 x 10 7,516
> &Mz AH| 50,0003 «220! «12& 13,200
>uE2 Xl 50,000& *222! x12& 13,200
OSYgBAME (65 JIE) 241,597
>olEs 1,203,430 901 x12& 129,971




SN YD
M HE2IZH(YR)
el Y (A AIESE3H) )
SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
> a0z 1,208,430& 921 x4 & 43,324
DAZLIZR=E 8,988 901 x48AI 2t+12& 46,594
PEdIRSE 72,250 x90! x 12«12 7,803
> AX =G 34,5003 «921 10 3,105
D> & Mz AlH| 50,000 «9Q1 x12& 5,400
>us2xdl 50,0003 «9Q!«12& 5,400
OHFIExZAH (758 JIE) 19,160
>llEs 1,035,000& 11 %123 12,420
DAz 1,035,000& » 121 x4 & 4,140
DAIHIZRY 7,6543 12 x12A1 2tx 128 1,103
> AX =S 29,6703 *121%10 297
> EAZ A 50,000& «101+12& 600
>us2 Xl 50,000& «121«12& 600
O=0AHz=2ES3 761,542 ,000& *4.5% 34,270
OAHLEE= 761,542,000& *2.9% 22,085
oOFIIeLEE= 22,085,000& *6.55% 1,447
(OE= 30 = =4 761,542,000 *1.95% 14,851
OdMEE= 761,542 ,000& =1.285% 9,786
O=&0l 85,680,000& »14! 85,680
o=l 9,510,000 » 14! 9,510
OsxeZ HYB(rHEHD)
49,825,920 x 14! 49,826
Oslxez HYB(FHEEER)
761,542,000& =8.3333% 63,462
204 AR A H| 130,080 130,320 A 240
02 g2 2l 130,080 130,320 A 240
OXgExt| 130,080,000 130,080
303 &3 180,000 180,000 0
02 SA0= 180,000 180,000 0
Oduan= 180,000, 000& 180,000
304 ASRE=S 734,186 705,976 28,210
01 HA3EE3 593,846 571,644 22,202
OFuE=2 == 4,425,728,000& *0.07 309,801
OoedZ 4,425,728,000& *0.03467 153,440
OEA+==Z2g3 4,425,728,000& 0.02811 124,408
OMEMNRES 4,425,728,000& +0.0014 6,197
02 SQALEES 140,340 134,332 6,008
ORVUALLHLLS  4,541,780,0002 %0029 131,712
OLFIQURHRLD
131,712,000& *0.0655 8,628
Jledul (4 A SE3H) 1,483,530 1,481,028 2,502




SN YD
HE: HW2ARY (LD
el DR B (A TAISSEEN) (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
JlE2&l 1,483,530 1,481,028 2,502
201 LBH2d| 1,200,310 1,208,268 AT,958
01 At 2t 2l 430,740 568,470 A 137,730
O1 get==2Hl 268,610
DEM 2g =SHI(Z2M)
1,500,000& »12& 18,000
DEBARINI A2E L AIRE &2
10,000, 000 & 10,000
DEAM SEY FAEF 7Y
20,0003 «1000 & =128 2,400
DEAM SEY BYEF 7Y
20,0003 « 1000 & =128 2,400
>EIIY Z4 Z2A =2 8,500,000& 13! 8,500
D3I ollsh & 2o QI
800,000& =83l 6,400
PAGHAERZ DNN L SEZ oM
75,0003 x208F A %12 18,000
DAGEERD I B A NA Y|
,000,000& «85& 8,000
DA 2 23 28 25 2= MEHH
100& x2Z+80,0000H 16,000
CANADE ARE 2 Y H2/4)
300,000& =30CH 9,000
DEAMA NDHT2H ADE 2UH(EH 9
E) 800,000& 108 8,000
>AGH4AER3 MEIIE NUH +43
1,000,000& =122 12,000
Daol=E2a NSOH 84 =2
508 15,0002 122 9,000
DAGtERz AAIZ JIAAHR 08 =2
80& 5,000 x12& 4,800
DAZSEE X3 MHlA 08 =2
2,640,000 2,640
D> XIE ®IIEH AL ==2(4.5t
grol) 4,000,000& »23| 8,000
DUEHsXelAE HASE =Z2ZAM ==
Z(T0C2l 3F) 350,000& =123l 4,200
DASRES 2EAN ++2(PB2 3F)
250,000& *43| 1,000
DHIOI A 2AF 242 (RFEFLH)
1,500,000& »23] 3,000
PAMES AN 222(ATZLE)
600, 0003 *23| x224 2,400
PDEZEAM P2 50,000& *5& 250
DAIRE JIXM SXL(H. H3+&, SHAY
Z) 350,000& 1038 3,500
DASE HRE P L ME(H.E>E, S
AL &) 50,0003 *43] x 1304 2 2,600




2N
X ZH -
L= B

el

FZH(YR)
B (&S AMEEE3IH)

BB - Sl (31) - NRAY - BES Ol &+ o4 SSa HmEET
DAMEE AZ2E FU(H.BF, SHALE
) 800,000& »23| 1,600
S WE L ZA =22(H . BFE, S
HALS &) 600,000 =17CH 10,200
DEEIAQY H SOAE FIBA =2
60,000& =7CH 420
DESZE XS HMIILH ZAL =2 (4.6t
g1) 4,300, 000& *23] 8,600
DHAMBANE(DLIA) A =22
200,000& »23| 400
PYABI AM U AA 222
1,000, 0002 74 7,000
DE>AE L UM (20K) 24 =22
200,000 x243| 4,800
Do 2 4T ANES AN 242
500,000 *43| 2,000
PANAEEEII HEAN 242
550,000& »26CH 14,300
D8 B2 BN Z2H(FF MUY . HAHE
=&, ISad+5) 300& *20,0000H 6,000
DASE B2 2B MR 2
5,000,000& 23 10,000
DRSO E Mojotdae el =2
700,000 = 12& 8,400
PSP AAT MIOFBE Y L4E
600,000 »12& 7,200
DA JtgE Mijetdzte] i =2
700,000 = 12& 8,400
PEM 2Y =3H(=&M)
1,600,000& »12& 19,200
O2. /gL =H| 7,200
DWE 2@ B (L2H) 100,000& » 150! 1,500
DEJItE2LX Y EXR wSEH|
100,000& 72! 700
D> 1S0O &l AAH 2 W=
5,000,000& =13l 5,000
0O3. 2&=+Y 49,820
DY =G 50,0003 «22! 480 48,000
DolIZtets =& Z A 212tel (44|
70,000& *23| 140
ASSEIISAAS A 2
70,0003 1221 %23 1,680
O4. 1=l 7,430
DIIHA 22X 360,000 162! 5,760
DA FaE ZYS 100,000& »82! 800
D=2 XNE JlsHelet 290,000& »32! 870
O5. =&l 22,680
>0t 7,000 *70A x 128 5,880




SN YD
E: HYSYRY (SR D)
¢el: J23H (4T AIESE3IAH) (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
D> 2=t 7,000& x200A x12& 16,800
06. X2 75,000
PHAE € Fol 2 SAE Fl Z)
A= 100,000 *50 Al 2t 5,000
D2t g =& ZH gz
50,000& *1,400A| 2+ 70,000
02 2322l 769,570 639,798 129,772
O1. 2323 % WA 148,664
DTV REgE MEZR 22,0002 128 264
PUERYRES 500,000& *13] 500
DAL 2 (H A 100, 000& *23| 200
DRELZ 500,000& »12& 6,000
DAStEER3(HA 200,000& x12& 2,400
DESGX HBAE 1,000,000& *13] 1,000
D3EZHMA NSOIM HA(EDI) AHE S
150,000& 128 1,800
DN L Mgz 32 2uE3 (k=2
clg) 200,000& 128 2,400
D OAIAAILD HHA Y BEHE
70,0003 » 14! 70
DOIEX L I HY BEHZ(0IEX 40,2
A1) 700,000 » 14! 700
DI S#HAMERL I (22 10)
75,000& x23| 150
pai=h=l-il] 100,000& 7! 700
DASEE IHY M2 AEBE, MR
= 650,000& *x12& 7,800
2SN MEE 160,000 * 184 A x 12 34,560
DRdgE L AJ0IS0IE AIEZ(7THA)
130,000& 128 1,560
DRI E TAINA 2= 150,000 « 122 1,800
DARE JISE HIIeI
200,000& «190 & =128 45,600
DAXTE Hol 24 SH HL (&2 =.Hh
*=2Z) 15,000,000& * 14 15,000
DRAIAANAE SAHI IS
20,0003 *30 & x128 720
DRAIAANAE Hatsd SalH|
32,000%500 A~ *12& 1,920
>DIls=clpt gEt 2 0lsdst =
350,000& x12& 4,200
DRAAREH FH dEs SAH|
200,000 #4J4 A 12 9,600
DIRAAREH HIIR=
30,0003 #1700 2 =128 6,120
> Xt= XAl 100, 000& =4 CH 400
PASXH EEE 700,000& »4CH 2,800




2N
X ZH -
L= B

el

FZH(YR)
B (&S AMEEE3IH)

5 - 4
HE - B (3H) - KISAY - BYS 0l &t o il HImEET
DAsI SHAMEEES 50,0002 «40H 23] 400
O2. A=zl 59,138
D= JIAHY & ARE Az
T2 %24 A 2F 1,331 +70H & 16,100
DESF I e R
72U *24 A 2t %1, 3312 *70H A 16,100
DESH LPG AEZ 80,000 * 12 «204 & 1,920
>S. o ALE Y PIIIAF LY R0
60 24 Al 2H%1, 3312 = 1100 & 21,084
PEY ¥ F3HH=X LPG AAEZ
50,000 12 «4 4 & 2,400
DIls=clft He2 SFU
72 x8AI 2F 1,331 «20H & 1,534
O3 A& EHl =Xt 542,113
DEINSALAE SAES 5,300,000 5,300
DEA 28 Hul(HM= 2 Aldl)
30,000, 000& 30,000
DEAM ALEES RA2L 15,000, 000& 15,000
DEA YW UL SAE(AWH. 2] AH
=g) 11,000, 000& * 14 11,000
DEAEx ES 2,945, 6773 «1C1x12& 35,349
DEA Zotzte el =249 190,000 128 2,280
DEAMN S tE2e] EY
132,000 = 1CH 122 1,584
DaStrEeszee Z20YH S+
1,300,000& 122 15,600
DO AR = ALY 2EHH & 23 2
HAMOIE RXNE+ 500,000& 128 6,000
DELID S22 (2322 E)
700,000 =10CH 7,000
PEx2z2 Y =2 |
2,000,000& x5& 10,000
DEHE 2 2202 &X
2,500,000& »23] 5,000
DEHAHM3 Y HAF S ENE =4
5,000,000& #20H 2 #23] 20,000
DRAFFHST HYUSY HX 20,000,000 20,000
DASRESTE 2 ZAl AIEE Sl
1,500, 000& *3H 4 4,500
DaAZAEE STETRMAAE S22
= 4,500,000 * 1200 2 54,000
DHiEs MaE =3, N8X EHE WA
5,000,000 *40H 2 20,000
DAZE DI & HIIAE SXH(E+ZF,0t
&) 1,500,000& x10& 15,000
b2aaolel +Upe Z2IOY SU2S
500,000& = 12& 6,000




SN YD
Mz HMSAHH (HYL2)
Srol: IR AL (MFTAS S5 CERED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
CUEEUANS o FAAZEHEX S
3,000,000& 10 30,000
D83 A 4,500, 000& *8IH A *23] 72,000
DRT2HY SHX, HHK B4 L 2K
H A 10,000, 000& *63| 60,000
DAIEZR2H L 0IEX RAlHI
500, 000& *5CH 2,500
>Ils=2lE #Hl |4 500,000& x20& 10,000
DIlsceldl A2 A2 2,000,000& 2,000
DS.H MNLE AHS SIIH (ZAH =L AR
Al 5) 1,000,000& 1000 2~ 10,000
DRYEREH SANES 10,000,000& 10,000
DOI2A 89 SAE4  3,000,000& *1901 & 57,000
DOIE S FA(HPS EHE)
5,000,000& 5,000
O4. XteFdery] 19,655
> XE SXHI(SA) 3,993,000& «1CH 3,993
DEXI(SHaA) 4,356,000& = 1CH 4,356
DoSIHEEH) 4,474 000 = 1CH 4,474
>3SA(AE) 3,416,000& =2CH 6,832
202 04| 129,680 112,320 17,360
01 2L Y| 109,680 112,320 N2,640
OJlag® =& ol 73,920,000& 73,920
OMY =& bl 35,760,000 35,760
04 =Xl st bl 20,000 0 20,000
OANZEAD =X A HH (ASHEZAIEE2E)
20,000,000 =14l 20,000
203 ¥ R =&t 18,510 18,240 270
01 J|2A2I PR =&Y 3,300 3,300 0
ONM=E A 3,300,000& 3,300
02 BRI YR2FAH| 3,510 3,540 A 30
OQax=EZBI)HEEZH 30,000& x117¢l 3,510
04 EANSIELRF=XH| 11,700 11,400 300
OY 2 (4691) 430,000 x12& 5,160
Ox== 1 545 000 x12& 6,540
204 = 2 4= A H| 103,200 103,200 0
01 S HRLHAH| 7,200 7,200 0
043 I 400,000& =191 x12& 4,800
o2 BEXJ|& 100,000& #2021 x 12& 2,400
03 SEYRAHI 96,000 96,000 0
O3JIEEMNSRE 61,440
> HH A 80,000& #5501 x12& 52,800




=L
HH: BHSYAU (YLD
Eel: D23 (AT AISSESIAH) ool E )
= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
DEEZE 30,0003 #2401 123 8,640
O gastl 50,000 x2401« 12 14,400
OF==EA & HED 80,000 «8Q1 x12& 7,680
OO0, 2 &k Her A R
80,000 721 x12& 6,720
Oz 80,0003 «62!«12& 5,760
405 TtobH S| 31,830 39,000 AT,170
01 AL ESFH S 31,830 39,000 AT,170
OJdis=cltt RGNS (HEY)
20,000,000 = 1CH 20,000
OZHFH 22HM(=21) 1,000,000& »3CH 3,000
QosJI (g HAE) 2,300,000 = 1CH 2,300
OdED (W 2RI E) 700,000 = 1CH 700
OXIMEEI (=T JIsS==2let) 2,500,000 2,500
OZFBE (=) 1,500,000& 1,500
OEBd0I3t(=S=1t) 1,500,000 1,500
OHM (=W 224X E) 150,000& =174 150
O (== =24XE) 180, 000 * 1K 180
il bl bl 343,922 373,080 229,158
GlElgl (A=Al S L H) 343,922 373,080 A 29,158
ol el gl 343,922 373,080 A 29,158
801 GilHI bl 343,922 373,080 A29,158
01 ollBl8l 343,922 373,080 A 29,158
OAHS il & Ol 51 Bl 143,922,000 143,922
OXt= 0l &k ol el 200,000, 000& 200,000




